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import org.jmock.*;
class PublisherTest extends MockObjectTestCase {
public void testOneSubscriberReceivesAMessage() {

Il set up
Mock mockSubscriber = mock(Subscriber.class);
Publisher publisher = new Publisher();
publisher.add((Subscriber) mockSubscriber.proxy());
final String message = "message";

1/l expectations
mockSubscriber.expects(once()).method("receive").with( eq(message) );

1l execute
publisher.publish(message);
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import junit.framework.TestCase;
public class CalcTest extends TestCase {
Calc calc;
protected void setUp() throws Exception {
super.setUp();
calc=new Calc();

}

public void testAdd(){
calc.set("+");
assertEquals( 5, calc.get( 2, 3));
}

}
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import junit.framework.TestCase;
nublic class CalcTest extends TestCase {
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class TaxUser{

public static void main(String[] args){

Tax tax=new Tax();

System.out.printin(“ 100M(&” + tax.calc(100) + " AIZAEYET™);
}

}
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